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\ExplSyntaxOn 3
\str_uppercase:n { \TMP } ' \TMP
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\tl_set:Nn \1_givenname_t1l { kildong }

\tl_set:Nn \1_familyname_t1l { hong } :
\text_titlecase:n { \1_givenname_t1l },~ ;
\text_titlecase:n { \1_familyname_t1 } [
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99 bottles of beer
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99 bottles of beer on the wall, 99 bottles of beer.
Take one down and pass it around, 98 bottles of beer on the wall.

98 bottles of beer on the wall, 98 bottles of beer.
Take one down and pass it around, 97 bottles of beer on the wall.

1 bottle of beer on the wall, 1 bottle of beer.
Take one down and pass it around, no more bottles of beer on the wall.

No more bottles of beer on the wall, no more bottles of beer.
Go to the store and buy some more, 99 bottles of beer on the wall.
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STATIC PUBLIC SUB Main()

DIM X AS Integer

DIM ProcStr AS String

FOR X=99 TO @ STEP -1

ProcStr=X & " bottles of beer"

IF X=1 THEN ProcStr="1 bottle of beer"

IF X=0 THEN ProcStr="No more bottles of beer"

IF X<>99 THEN PRINT "Take one down and pass it around, " & ProcStr & " on the
<~ wall."

PRINT ProcStr & " on the wall, " & ProcStr &"."

NEXT

PRINT "Go to the store and buy some more, 99 bottles of beer on the wall."
END
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99 bottles of beer on the wall, 99 bottles of beer.\\
Take one down and pass it around,
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98 bottles of beer on the wall. \par
98 bottles of beer on the wall, 98 bottles of beer.\\
Take one down and pass it around,
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1 bottle of beer on the wall. \par
1 bottle of beer on the wall, 1 bottle of beer.\\
Take one down and pass it around,
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no more bottles of beer on the wall. \par
No more bottles of beer on the wall, no more bottles of beer.\\
Go to the store and buy some more, 99 bottles of beer on the wall.
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\int_new:N \g_maxbottle_int
\NewDocumentCommand \PrintSong { 0{99} }

{
\int_gset:Nn \g_maxbottle_int { #1 }
\int_step_function:nnnN { \g_maxbottle_int } { -1 } { @ }
o~ \print_the_song:n
}
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\tl_set:Nn \onthewall { on~the~wall }

\tl_set:Nx \ofbeeronthewall { \ofbeer{}~\onthewall }
\tl_set:Nn \takeone { Take~one~down~and~pass~it~around }
\tl_set:Nn \gotothestore { Go~to~the~store~and~buy~some~more }

.

\tl_set:Nn \ofbeexr { of~beer } }
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\cs_new:Npn \print_the_song:n #1

{
\int_case:nnF { #1 }
{
{11} { l~bottle~\ofbeeronthewall . \par
1~bottle~\ofbeeronthewall , ~ 1~bottle~\ofbeer . \\
\takeone, ~
}
{ @ } { no~more~bottles~\ofbeeronthewall . \par
No~more~bottles~\ofbeeronthewall , ~ no~more~bottles~\ofbeer
- . \\




\gotothestore,~\int_use:N
o~ \g_maxbottle_int{}~bottles~\ofbeeronthewall .

}
{ \g_maxbottle_int } {
#1~bottles~\ofbeeronthewall , ~ #l~bottles~\ofbeer. \\
\takeone, ~
}
}
{
#1~bottles~\ofbeeronthewall . \par
#1~bottles~\ofbeeronthewall , ~ #1~bottles~\ofbeexr . \\
\takeone, ~
}
}
\ExplSyntaxOff

\ 7

EEolME o] FH 2 verse &7 Qholl Yo et 9= U7 @il A F5kY 5719k Hol 7| = St

oL

\begin{verse}
\PrintSong[5]
\end{verse}

5 bottles of beer on the wall, 5 bottles of beer.
Take one down and pass it around, 4 bottles of beer on the wall.

4 bottles of beer on the wall, 4 bottles of beer.
Take one down and pass it around, 3 bottles of beer on the wall.

3 bottles of beer on the wall, 3 bottles of beer.
Take one down and pass it around, 2 bottles of beer on the wall.

2 bottles of beer on the wall, 2 bottles of beer.
Take one down and pass it around, 1 bottle of beer on the wall.

1 bottle of beer on the wall, 1 bottle of beer.
Take one down and pass it around, no more bottles of beer on the wall.

No more bottles of beer on the wall, no more bottles of beer.
Go to the store and buy some more, 5 bottles of beer on the wall.
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5 bottles of beer on the wall, 5 bottles of beer.
Take one down and pass it around, 4 bottles of beer on the wall.
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